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���5������	��5������=	�	��5��A��������	����M	5����< ��M	��M������=	�	�@�����	��@	
7��7�@����N	��	�<����	%��	5��78��GL�=	����������A�� ��AG	�	@���7�<�=������	<���	
57�	7�@���	�	���AG	�	������A��	���8;	��;���	

				
��������	�������	�	��������������������	�������	�	��������������������	�������	�	��������������������	�������	�	������������ 				

·  
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·   �����8	5�������	@���5�������	
·  ,�����7���	���������	�����@���������8	
·  .57�������	����������	�����@����������	6����G;����I ����G;����N	5�7����7����N	
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·  ���7����I���7����I������7���	���7<7�����	
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·  .57�������	7������=	��	
��	
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,�����7���	 �<�5��7����	 <�8	 7�@���	 �	 @7����7�	 STTURQ 	 VWXTYQ�	 "����	 %�	 ������	
7�@����A	�	���	�	��5��A��������	Z[\QX[Q\	)O]RTXQXN	 ^]QX_N	`_a_Xb�	
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��������	
��
������
�	�
�	����

��������	
����
��������
�

��

	

 ���	3	

	

 ���	:	

	

	



��������	
��
������
�	�
�	����

��������	
����
��������
�

��

$�
%�
&	�" 
��'
	$�
%�
&	�" 
��'
	$�
%�
&	�" 
��'
	$�
%�
&	�" 
��'
	()* ()*()*()*+ +++,���"� ��$
,���"� ��$
,���"� ��$
,���"� ��$
	 			
	

$�����8	��7�����		()*+������7����	57�<��������	��	7 ���	:�			

,��G	()*+������7����	��<�7���	���<�GL��	5�<���G�	
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m	 ��	 �����	 �@�7���	 i	 57��������	 ������K����	 ����7�� ��=	 ��������	 �	 �����	
�@�7����	

m	��	 �@L�=	�����	 i	57��������	 ������K����	 ����7���� =	 ��������	 �	 �@L�=	�����	
<������M	5����5����=�	

%���7���88	�������8	i	<�������	������7��<����	����� ��	

�����	i	�@L�8	�����	������7��<���8	�������	

m	��	��;�������=	�����	i	57��������	������K����	��� ���7��<���8	������	�	�@L�=	
�����	5����5��K�M	5������=	@��	�;���	���������	

m	 ��	 �@L�=	 6�����9	 i	 57��������	 ������K����	 ������7 ��<���8	 ������	 �	 �@L�=	
�����	<������M	5����5����=�	

�@L�8	�������8	i	�@L�8	�����	���M	�������=�	

��������A	 �5�7����	 i	 �@L�8	 ��������A	 �5�7���=	 5�	 �� ����7��	 57���=<�7��N	
��57���7�	�����7������8	�������8	��	@��������=	5��� ���	

B��8	 ��;��N	m	 i	57��������	 ������K����	<����M	 �57�< ��������	 ��7������	 ��	 ����	
��7�������	�������	


�	 �����	 	 i	 57��������	 ������K����	 ��7������	 �	 ��7� ��	 ��	 ����	 ��7�������	
�������		


�	 �����	 �	 ��;������G	 i	 57��������	 ������K����	 �@L� =	 �����	 ��;������=	
��7������	�	��7���	�	�@L�=	�����	��;������=	��	���� 	��7�������	�������		

%	57�@���	i	57��������	������K����	57�@���	��7����� �	�	��7���	�	�@L�=	57�@���	
��K���	�������	
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������=	i	����;�����	5������=	<������	��7�������	

�7�<�88	 �����	 i	 �7�<�88	 �����	 5������	 �	 ��7������N	 ����K����	 �����	 ���M	
5������=	�	����;�����	5������=�	
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·  /����	

·  ,�����7	��7�������	

·  ,�����7	��7�������	:	

·  %���7��	

·  .57�������	7������=	

·  /�<�	�K�@��I��������	

·  J��7����	
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/�����/�����/�����/����� 	 ���@7�����	 ���	 7��57�<�����8	 <������M	 �7�<���	 5�	 � �������	 ��;��	
���7������8	�	��<�	��@����	6 ���	3349�	%	��@����	�� �@7������	


����	i	Zn	�	��������	������N	5�	����7���	�	<����=	 ��7���	��7�����	7��57�<�����8	
�7�<����	

"���L�=	@�����	i	����L�=	@�����	�;���	<������	����� ��	

���7<7���	i	�����	��<����������	������	5�	���7<7��� ��	

%���7���88	�������8	i	�����	������7��<���8	�������	

,����	 ��7��M�<����A	 i	 �����N	 �	 ����7�=	 �����	 �����	 57�����<��A	 ��;������8	
5������=	 i	 j��	 ��@�	 ����L�=	 @�����	 ������N	 ��@�	 ��� ��	 ���7<7����N	 ��@�	 �����	
���7<7����	��	��;����	����L���	@������N	����	��	��� 	���A	<�������	�7�<�����	
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��7���	i	�57�������	<��������	�7�<������	������	6 � ��	33C9�	

39 %�<��A	���<�	
:9 J�@7��A	���<�	
49 ���7��A	���7<7���	
C9 ��;�����A	�������G	
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%�<��A	���<��%�<��A	���<��%�<��A	���<��%�<��A	���<�� 	�����	�	��@����	1 ��57�<������	�7�<���2	��	���;��	 1��<��A	���<�2N	��	
������	 ��<��A	 ���<�	 ��@7������	 ������	 ��	 �;���	 ���� ��	 ��@�������	 	 ���7����8	
��7�����	 1.��������	 ���<�	 <�8	 ������2	 6 ���	 33C9�	 % 	 5���	 1��������A��8	 ����	
5�7���<�2	 @�<��	 ���8�A	 ��������A��8	 �����N	 �������� 8	 <�8	 5�7���<�	 <������	
�������	%	5���	1��;�����A2	�������	�����N	����7�8	@ �<��	��;������	<������	������N	�	
5���	 1/�������7�=2	 ��	 ������	 �������A	 ��������7�=	 � 	 <������	 5�7���<�	 ���<��	
B����	�������	���5��	1
7������A2N	5����	;���	��	@�� ���	������	5����58�	�7�<����	�N	
��������������N		@�<��	���@7�����	�	��@����	1 ��57� <������	�7�<���2�		

	

 ���	33�	

J�@7��A	 ���<��J�@7��A	 ���<��J�@7��A	 ���<��J�@7��A	 ���<�� 	 B�=�����	 �������;��	 57�<�<�L����	 �����	 ��	 �������� ���GL�=	
���;��N	��	������	��@7��A	���<�	�	������	6 ���	33D9 �	

J�5������	 �����������GL��	 5��8	 �������;��N	 �	 5���	 1 ,�������A��8	 �����	 <�8	
��8��82	 @�<��	 �������	 ��������A��8	 �����N	 ��������8 	 <�8	 �5�����8	 �	 @������	
�������	 B����	 �������	 ���5��	 1
7������A2N	 5����	 ;�� �	 �	 @������	 ������	 @�<��	
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�5�����	 ��������8	 �����N	 �	 <�����	 <�=�����	 @�<��	 �� �@7�����	 �	 ��@����	
1 ��57�<������	�7�<���2�		
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���7<7�������7<7�������7<7�������7<7���� 	 �����	 ��	 �����������GL�=	 ���;��N	 ��	 ������	 ��<��A	 ���7<7���	 ������	
6 ���	33-9�	 ��������������N	�	5���	1,�������A��8	 �� ���	 ���7<7����2	@�<��	 �������	
��������A��8	 �����	 <�8	 ��<�;�	 ���7<7�����	 %	 5���	 1
 7�����2	 @�<��	 �������	
57�������8	������	<�8	���7<7����	��	�����N	57������ 	5�	���7<7����	��;���8G��8�		

3+�	�����	i	@��5�����N	��������������N	����	��	5��� K����	��G	�����	���7<7����q	:+�	
�����	i	��;���8���8	57�����	��	3+=	�	:+=	<��A	5��A� �����8	���7<7������	

	�����A���	5��8	�������;��	57�<�<�L���	B����	������ ���	���5��	1
7������A2�		��	
�;��	 ������	 @�<��	 ��;�����	 ���7<7���N	 �	 <�=�����	 @� <��	 ��7�����	 �	 ��@����	
1 ��57�<������	�7�<���2�		
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��;�����A	�������G�	��;�����A	�������G�	��;�����A	�������G�	��;�����A	�������G�	 �����	��	<����=	���;��N	��	������	��;�����A	������7 ��<����	
��@7������	 �������	 ���@M�<���	5�<���7<��A	<�����	<� =�����	6 ���	33>9N	5����	 ;���	
������7��<����	 ���@7�����8	 �	 �������	 1%���7���88	 �� �����82	 ��@����	
1 ��57�<������	�7�<���2�	
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9�����
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���	���'9�����
� ��
���	���'9�����
� ��
���	���'9�����
� ��
���	���' 	 ���@7������8	 �	 ��<�	 ��@����N	 ���G;���	 �	 ��@8	 �5��� �	
��7�������	 ��K�M	 �������N	 �5�78<�;����=	 5�	57���<�� ������	 �	 ���	 6 ���	 33?9�	 	%	
������7�	��7�������	���@7������8	65�	����@���9�	

"�7�����	i	��������	�	Zn	��7������N	���	5����<��=	� ������		

B����	i	�����	<������M	�7�<���N	��M�<8L�8�8	�	<���� =	������	�	��7�������	


����<��=	�����	i	5����<���	�7��8	������	��7������	 ��	��57���	

`Zv	 i	 ���+��7��N	 ��������������8	 �	 ��<��	 ��7������	 <�8	 �����������8	 ����7���+
���<�����8�		

������	 i	 ������	 ��7������N	 57�	 ����<����	 ��7��7�	 �� K��	 ��	 ������N	 5�8����8	
�@����;����	���;���	

����	i	<�����	
�	��7������	�	�������	��7�������	

.57�������	i	�5����	<�=����=	<�8	��7��������	�@���� ;���8	���;���	<�=����=�	

 +	 1���������A	 7�@���	 ��7������2	 +	 <�����	 <�=�����	 � ������������	 7�@���	
��7�������	

	+	1�@�����A2	+	<�����	<�=�����	5�����8��	�@�����A	 
�	��7�������		

	+	1�������A	5����<���	�@��������2	+	�����8��	5���� <���	�@��������	��7�������	

	+	15�7���5�����A	��7�����2	+	<�=�����	5�����8��	5� 7���5�����A	�������	��7�������	

	 +	 1������A	 ����	 ��M��;�����	 �5����������2	 +	 ��57�� �8���8	 ��8���	 ��M��;�����	
�5����������	<�8	��57���	��	����	��7�������		

����	��7������	i	���	<�=����8	��7������N	��5G7�+	�	 ������57�������N	������A����	
57����7�	 �	 ���=	 �������	 �	 �����	6���@7������8	 ��5�� �N	5�7���5���N	 ���<	 ��5G7N	 �M	
����;�����	�	��<�9	��	5����<�GG	��<��G�	
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	+	1������A	����	��	QY_bR2	+	����	��7������	������G ��8	��	�<7��	j����7����=	5�;��N	
���@M�<���=	QY_bR	57�<�������8	������	57�	��57���	� �	<�����	<�=������	

	+	1����G;��A	��7�����2	+	5������AG	�������������	7 �@���	��7�������	

	 +	 15�7�<�7���A	 ��5G7�57������2	 +	 5�7����7����	 ��5G 7�57�������	 �	 ���;��	
���8��8	��5G7��	

	 +	 1���7����A	 ��������M	 57���=<�7��2	 +	 ���7����	 57� ��=<�7��	 5�	 ������G	 ������N	
<�=����8	��<	������	57���=<�7���	�����	��5���8�A	�� �A��	������	

	+	1�<����A	��7��K��	j�7���2	+	����������A	�<����A	 ��7��K��	j�7���	��7������	��	
������	��57����	

	 +	 1���7����A	 ���@��A��=	 @���=	 �5����2	 +	 ���7������ 8	 �5����	 ���M	 ���@M�<���M	
����7��I�;����N	 5������	 5�	 ����7��	 ��	 <�����	 ��7��� ���	 @�<��	 57�M�<��A	 @��	
��8��8	���������	

	+	1���7����A	�7M��	��	��7�����2	+	�<��A	��	������	 ���7����A	��=��	��	��7�����	��	
������7����N	 �5������	 ���7����	 ��=���	 ��M�<���8	 �	 5 �����	 ���G	 ��7���								
J��7����	6 ���	34?9�	

	+	1�@�����A	 �5�����2	+	 �@��������	57�������8N	 ���< 8L���	 ��	7�@����5���@����AG	
�����7���7�� 				 �5�����	 +	 j��	 57��7����N	 ���7��GL�8	 ������	 �	 �����7 ���7���	 ���	
57���78��	 ����L��	 �����8���	 �����7���7�N	 5�7���5��� ���	 ���	 �	 ���;��	 ��<�@�����N	
��5������	���	�	���;��	����M	+	��@�	�K�@���	���	@�	 �@�����A	57��7����	�5������	��	
������	���5��A�����A�8	�����������GL�=	�����<�=� 				

	+	15�7���7������7����A	 ��7�����2	+	 ���������	 ��7�� �������	5����<��M	 ��7��=	 ��	
��7������		

	 +	 1���M7�����7����A	 �7��82	 +	 <�=�����	 5�����8��	 �� �M7�����7����A	 �7��8	
��7������	�	��7��7���	

	 +	 1����7�8	 5����<��M	 �����<2	 +	 5�����8��	 57�����7� �A	 ����7�G	 	 5����<��M	
��5�������M	<�=����=	��<	��7��������		


�����A����A	 5������I5������=	 ����<�8	 i	 �7��8	 5���� <����	 5������I����;�����	
5������=	��	����L��	������	
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���	���� 3'9�����
� ��
���	���� 3' 	 %��G;���	 �	 ��@8	 �5����	 ��7�������	 ��K�M	 �������N	
�5�78<�;����=	5�	��7����N	7��5�@�����	�	��7�<���	�5 ����	5�<�@��	�5����	1,�����7	
��7�������2N	�57�������	��7��������	�������;���	6 � ��	3:E9�	
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%���7��%���7��%���7��%���7�� �	B����=	5����	���G	57�<�����8��	��@�=	�;�7�<A	���� 7����	5������=�	

·  )��	���*������
�#*)��	���*������
�#*)��	���*������
�#*)��	���*������
�#*� ���
·  ���������	����$���������	����$���������	����$���������	����$� ���

B�@����A	 �	 �;�7�<A�B�@����A	 �	 �;�7�<A�B�@����A	 �	 �;�7�<A�B�@����A	 �	 �;�7�<A� 	 
�����8��	 <�@����A	 5�����	 �	 �;�7�<A	 ����7�����	 B�8 	 j����	
��5������	 ���@M�<����	 5��8	 �	 �������	 ���5��	 1B�@��� �A2	6 ���	 3:39�	 
�����	@�<��	
<�@�����	�	�;�7�<A	����7�����	
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�5����	 5������=��5����	 5������=��5����	 5������=��5����	 5������=� 	%���7������	 �5����	 5������=N	 ��M�<8L�M�8	 �	 �;�7�<� 	 ����7�����	
B�8	5���7����8	 �5����	 ����������	5�7����7�	 ���A�7�N 	 �������;��	5�����	5������=N	
<����	���������	���5��	1�����A2	6 ���	3::9�	


���7����8	�5����	5������=N	��M�<8L�M�8	�	�;�7�<�	� ���7����	6 ���	3:49�	
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7���=<�7�
7���=<�7�
7���=<�7�
7���=<�7� 	6 ���	3:C9�	%	j���	5�����	���G	��M�<8��8	���A��	�� �������	57���=<�7�	
i	57���=<�7�N	 ����7��	 ���<�G��8	5�	 ������G	 ������N	 �	<�=����8	 ��<	5��������	5�	
<�����	57���=<�7��	���L�����8��	���	������		


7���=<�7��	

·  �5����	57���=<�7��		
·  5����	57���=<�7�	
·  ���<����	������	57���=<�7�	
·  ���@�<���	7��������	
·  ��7���;����	��������	<�8	57���=<�7��	
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�5����	57���=<�7����5����	57���=<�7����5����	57���=<�7����5����	57���=<�7��� 	 �5����	 ���M	57���=<�7��N	���<����M	5�<	 ��K��	 ����� ��	6 ���	
3:�9�		���7������8	�	��<�	��@�����	

k	+	����7	57���=<�7�N	Zn	57���=<�7�	

{_YQ	i	��������	57���=<�7�	
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